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Name: ________________________
Mod 1, Day 4 







Date: ______________ Period: ____
More Composition, Graphing Inverses, Domain, and Range
Example #1:  Given 
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 for the domain {x|
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	Since 
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For any functions 
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Example #2:  Prove 
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Example #3:
	Graph 
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 with domain {x| 2 ≤ x < ∞},
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 on your own graph paper.   
Determine the following information.
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Mixed Practice:  Answer the following.  Show all work and reasoning.  Use a pencil and highlighter.
	1)  Write the inverse for each function.
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	2)  Given 
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	3)  Given 
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	4)  Graph 
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Domain:
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Range:
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